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Question Number : 1 Question Id : 1889601441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What will be the simple interest on Rs.1,000 at 10% per annum?

PHOSS TDE G.1,000 3 107 &0 SO Ben D780 arorde 36 Jod

SOenof?
1. Rs.10
& A0
2. Rs.50
&3 .50
3. Rs.200
& 200
4. Rs.100
& .100
Options:
1. %1
o %D
3 %3
4 ¥ 4

Question Number : 2 Question Id : 1889601442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Square root of 625 is
625 T8 SHeres0

1. 12
2. 15
3. 25
4. 35

Options:

1. %1

2 ® 2

2.3

4 % 4

Question Number : 3 Question Id : 1889601443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The average salary per head of the entire staff of an officer including the officers and
the clerks is Rs.60. The average salary per head of the officers is Rs.400 and that of
the clerks is Rs.56. If the number of officers is 12, find the number of clerks in the
office.
2% some0hod BuSo 22308, b5 Hen, RHrTed D3 SHien Berhd
o0 %.60/- 5800, 88 NI ed5 e Ss &. 400/, KSrT o8
&0.56/- 53008 T HoLDOH. AN NoME 12 9o, STt e OIS JOes?
1. 790
2. 610
3. 500
4. 1020
Options:
1. %1
2 %z
3 %3
4. 9 4
Question Number : 4 Question Id : 1889601444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
A guantity of Ragi is sold at Rs.5.75 per kg. the gain is 15% and the total gain is Rs.60.
what is the quantity of the Ragi sold?
2.5 865 ToAD . 5.75 © 5735 8] 15% er250 Pod BuSo s &. 60/-
HOTAW, 2D 250 TAD ealSEN?
1. 60 kgs
60 8e'en
2. 70kgs
70 8Sex
3. 80kgs
80 8S'en
4. 90kgs
90 §5'ew

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 5 Question Id : 1889601445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Assuming “Every Library has books” it follows:
"6 (HomrecHo Jusen SO Gotnod” e &rlF efo
1. Only libraries have books
BoGe0sred Sreeh JHosen o om
2. Some libraries do not have readers
£°2 Sl2deds rdtoen S
3. Libraries are staffed
osrediren DO g o
4. No library is without books
Jesen BRooE® Bnd B

Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 6 Question Id : 1889601446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If Attack is coded as “BUUBDL", How is “"PEACE " coded?
ATTACK €2:33:58) "BUUBDL" i §6 Tobaxd@, PEACE Jer 56 Tabaduédood.?
1. MCZDF
2. QFBDF
3. NFBBIJ
4. ABCDE

Options:
1. %1
oD
3 %z
4 % 4

Question Number : 7 Question Id : 1889601447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



How many triangles does the figure given contains?

& |80 BN IS B0 D) (BLhErenTy on?

1. 11
2. 12

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 8 Question Id : 1889601448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The present age of A and B are in the ratio of 8:7. 27 years ago their age was in the
ratio 5:4. Find the age of elder one.
A 58050 B TB0E), Hrpes SchHin ) 8: 7 DABS Sotnod. 27 Hodehjore
1850 76 SCH0) DAIE 5:4 & HoH. oS S TR IcH0 D
Eenfa0od.
1. 60 years
B0 fOe2eR TP ED
2. 72 years
72 ca0oaed YT EW
3. 30 vyears
30 00€8 TP ED
4, 45 years

45 FH0aed jTreD

Options:
1. %1
e .



3 ¥ 3
4 % 4

Question Number : 9 Question Id : 1889601449 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A man buys 100 pomegranates at 50 Paise each and 50 Kiwi fruits at 60 Paise each.
10% of the pomegranates and Kiwi fruits are spoilt. The man sells the remaining
pomegranates at 70 Paise each and kiwi fruits at Re.l each. The profit made, as
percentage of the cost is
2.4 2 100 TTRIIH0B 2,535,635 0.50 e 3753265, 50 ED JHoled 0.60
Doen  Teyad TNy, D6 TE0 N0t rEovaran.  avhed
TR02H0 0.70 e 57530, 82 Hots H.1.00 5535 @8, Twudo
SI0es 5%, Dodh 725 T ahaan?

1. S0%

2. 35%

3. 23.3%

4, 26%
Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 10 Question Id : 1889601450 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A number when divided by 779 gives remainder as 47. What remainder will be
obtained by dividing the same number by 137
2.8 Dok 779 Ted DBBT 47 Ao Wihenedrod ..e8 Dowic 19 Ted
DBARW & Mowg Do fvendod?
1. 6
2 o
3. 8
4. 11
Options:
1. %1
2 82
=¥ 3
4 % 4



Question Number : 11 Question Id : 1889601451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Sumanth bought a bag for Rs.1480 and sold it for Rs.2,072. What was his profit

percentage?
aDan0d  $0.1480/- Grerabedy 2.8

SN Ecnotrd. et erdo FTHO Jodh?

1.

2.

3

4,

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 12 Question Id : 1889601452 Question Type: MCQ Option Shuffling: No Display Question Number :

&0

40

30

20

arsf B &na2,072/-

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Gosraierdo

In an examination 80% of the candidates passed in English, 75% in Maths and

15% failed in both. If totally 490 passed the examination, calculate the total

number of candidates?
HBEES 80% 08 eolos aBda AT, 75% H0b Bddoss HOan
15% BoG0edsS DHerocirsd. SnuSo 490 H0b &B88 FEODSRNS,

Budo Drier HDoms Doh?
1. 300
2. 400
3. 510
4, 700
Options:
1. %1
2 ® 2
3 %3
4 ¥ 4

Yes

Question Number : 13 Question Id : 1889601453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



& man's coat cost seven times as much as his shirt, but the bill for the two
together is Rs.416. the price of the shirt is...
2.5 50D 85 Bt S 805 A0 ) Do B TOT 0. Bodkr £ &. 416/-
006, m O8 Jo?
1. Rs.31
&.31
2. Rs.52
&. 52
3. Rs.74
S.74
4, Rs.102

. 102

Options:
1. % 1
oD
3 %z
4 % 4

Question Number : 14 Question Id : 1889601454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A piece of work can be completed in 18 days by 10 men and 6 boys. The men work
9 hours and boys 7 ¥ hours per day and 3 boys do as much work in an hour as two
men do. How many hours would it take if the work is done by one man.
2.5 HDD 10 508 Hdpen 8051 6 Ko erendd £0D 1D TR 18 Frerds
38 Tardo. haven 828 9 fotren DB erenth Eerdo 7 1/2 fotren
HOTarn. 3 2rend, 2 HhHen TR HAD 2.4 fod S8 FOTTH. 2.8 Jw
2.4 0 e DA 0T cirecT A, fotren Héudiod?
1. 2160
2. 3526
2. F25
4. 898
Options:
1.v1
2 ® 2
3. %3
4 % 4

Question Number : 15 Question Id : 1889601455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

In a group of 100 birds, 85 had a long beak, 45 had grey feathers and 38 had both a
long beak and grey feathers. How many did not have a long beak and did not have
grey feathers?
100 HE0E HSTFoeS, 85 aPhs S S0%0) &, 45 227G Sifen £DA & &
08050 38 EP&GS S A%y 80k 2rA S Sok Sfen Gy on. 20 638
SRS B0, 20 S0l Sifen Bay?
1. 15
2. 35
3. 8
4. 2
Options:
1. %1
2 %2
2. v 3
4 % 4

Question Number : 16 Question Id : 1889601456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In terms of history, A.D. stands for
5016 D530 AD. ®0TY obeEd?
1. After Christ
18500 Sdared
2. Anno Domini
&g S
3. Aide-de
Sowi-G
4, After Death

Vel s Yol Yale!
Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 17 Question Id : 1889601457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The first Noble Peace Prize was awarded to in the year 1901,
1901 HOJ3510°08 Bnde3 SBS 7o Hdarido 2568 2l 0.
1. Roosevelt
ErB 59
2. JLH.Dunant
J.H. daogrorodd
3. Charles Darwin
&0 P850
4. Alfred Mobel
@ 8,6 520
Options:
1. %1
=
3 %3
4 # 4

Question Number : 18 Question Id : 1889601458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which is the longest river in the world?

HH0t906 198 SPEDS SO DE?

1. Nile
oY
2. Amazon
e
3. Mississippi
R
4. Brahmaputra
[23eT223(e5
Options:
1.¥1
2 ® 2
z %3
4 % 4

Question Number : 19 Question Id : 1889601459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who has been appointed recently as the first Lokpal of India?
2350 eSS s Sncsed ST S m 25 DohIoeerdirsdn?
1. Justice J.Chelameswar
zeh ). Tomish
2. Justice P.C.Ghose
2o 2. rR
3. lustice Arun Mishra
23R eaded Do
4. Justice MadanB.Lokur
2R S D SErE

Options:
1. % 1
oD
3 %z
4 % 4

Question Number : 20 Question Id : 1889601460 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The International Labour Organisation was established in
20683 2SS Bob edTBAS &5 arDodHGo&
1. 1915
2. 1544
3. 1950

4. 1961

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 21 Question Id : 1889601461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The Head Quarters of International Monetary Fund is at
20630 AJS 47088 Hos Tr& =06,
1. Geneva

B

2. Rome

S7SV)

3. Washington
TR0l

4. Vienna

o)

Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 22 Question Id : 1889601462 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The main source of power in India is
T SSTI0S D0pd 38 1HES SS&T H0d
1. Hydro-electric
23era) 05 e
2. Thermal
BS8S
3. Nuclear

&9ga DN FER)
4. Solar

Sile]
Options:
1. %1
oD
3 %z
4 % 4

Question Number : 23 Question Id : 1889601463 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A man jumping out of a moving train due to inertia is thrown
ZXoendnd) Ben dod Gr8d 555 I8 el den 555 DD eJdhaderd
1. Back ward
Doy,
2. Forward
SDOCHE
3. Towards side
12828
4, Falls flat
20208 earoedorrT
Options:
1. %1
2.2
z %3
4 % 4

Question Number : 24 Question Id : 1889601464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the name of the instrument used for measuring blood pressure?
SEFendd Fodmrid &H3irion H08580 G3ng) & Jdaned?
1. Lactometer
8 BSrngsm
2. Sphygmomanometer
SR PSSP
3. Stethoscope
DRSPS
4. Endoscope

JOLTRELD

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 25 Question Id : 1889601465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Whao invented the television?

BODBS 0 DadH SRy H?

1. Galileo
OO
2. Newton
AT
3. J.L.Baird
1L 38
4. 5.M.5inger
5.N. ooand
Options:
1. %1
2 ® 3
3. ¥ 3
4 % 4

Question Number : 26 Question Id : 1889601466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
Fish can survive inside deep-frozen ponds because—
KHESS STBS T He THen okt arfotdiiens). ot ?
1. Fishes are cold blooded
Doen SO 550 EOR totran
2. They hibernate
TETFTO0 @60 O HBN S b0 [2eEenihEran
3. Ice is a good conductor of heat

HoTh JHE Sod okEd

4, There is water at 4°C below frozen ice

KGpEedd Sooh 1Bod 4 Sife oS S8 A& &od

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 27 Question Id : 1889601467 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Dioptre is the unit of power of -—-
AT (Dioptre) =& D 35 Bu), ahrde —
1. Light
(58]
2. Sound
2rols
3. Energy
38
4. Lenses
FerEdven
Options:
1. %1
2 %2
3 %3
4 ¥ 4

Question Number : 28 Question Id : 1889601468 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Diamonds are weighed in _
Sizre %S & & 1208 53 SrdosS Sevard
1. Grams
(MTa0e
2. Pounds
=0l )
3. Carats
el
4. Tons

E30007 €

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 29 Question Id : 1889601469 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Deficiency of iron causes
38806 @bdn S5 8 3T 756
1. Nervous disorder
6h Soifze
2. Anaemia
BEarases
3. Leukaemia
engSanair
4. Heart disease
o3 amH
Options:
1. %1
22
3 % 3
4 % 4

Question Number : 30 Question Id : 1889601470 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Binomial Nomenclature was introduced by—
Nerdnchd T R0oSHE! S SIS
1. Robert Hooke
b ot
2. Carolus Linnaeus
e OTabD
3. Darwin
850
4. Herbert Spencer
PSR0350
Options:
1. %1
22
3 % 3
4 % 4

Fart B: Current Affairs
Section Id : 18896036
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30



Number of Questionsto be attempted: 30

Section Marks: 30

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 18896036
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 1889601471 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which two states of India, Defence Industrial Corridors are being built?

2SS TE05 D Bodh TaTS 'B0S) B0d RohE S8y I%d

A8 odadde on?
1. Maharashtra and Haryana
oo s B8 STz
2. Punjab and Andhra Pradesh
Do Bk SO0
3. Tamil Nadu and Uttar Pradesh
S0 Foch B0 FSEDTS

4. Andhra Pradesh and West Bengal
22015 |150T 80w H7 300 Borre

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 32 Question Id : 1889601472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which State topped the medals tally at Khelo India Youth Games 20197
BE 206057 Gd Ty 2019 63 Hebsrer HEIES D) oo o eyfiardods
r06?

1. Haryana

O
2. Delhi
&9
3. Mazharashtra
DFT 2}
4, Kerala
5%
Options:
1. %1
2 82
3.v3
4 % 4

Question Number : 33 Question Id : 1889601473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which State has allocated 384 Crores for ‘Smart Village®’ campaigning?
' f D88 T Do 8 384 B Seranodd ot a0 O6&?
1. Punjab
S To ksl
2. Maharashtra
0o
3. Haryana
e v
4. ¥Karnataka
Sgrend
Options:
1.v1
2 ® 2
3 % 3
4 % 4

Question Number : 34 Question Id : 1889601474 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



in which State did the Defence Minister Smt. Nirmala Sitharaman inaugurate the
Diffo Bridge over Chiu River on 18" January, 20197
&5 07008 DB HEFTDS 2019 ZSS8 18 &S DO & 'HSF
J0BS S D TR0 |FEodomdn?

1. Arunachal Pradesh

eDETOO (D55
2. Manipuri
5356
3. Magaland
oreroe
4. Meghalaya
Soareos
Options:
1.v1
2 ® 2
3. %3
4 % 4

Question Number : 35 Question Id : 1889601475 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Whao has become India’s youngest Grandmaster in Chess?
27 &es 06T e B Sahin e 580l EarsHlsth?
1. Dinesh Sharma
&R 35
2. D.Gukesh
Vi
3. P.RameshBabu
P. $3h% 2rew
4. K.Venkataramana
K. D05 dane
Options:
1. %1
22
3. %3
4 % 4

Question Number : 36 Question Id : 1889601476 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which satellite has been launched by ISRO to study Sun?
SR 20 @ :0050 TOHERE JURF 2 SoBoR) ardododod?
1. Prithvi2
52
2. Agni
iy
3. Aditya-L1
eséhebs L1
4, Aayu M1
£3c5n M1
Options:
1. %1
2 %2
2.3
4 % 4

Question Number : 37 Question Id : 1889601477 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Imran kKhan took oathas _ Prime Minister of Pakistan.
FSTE TS FETS D0 S0 8T arddzshen o X80T,
:
223
2. 23

25
3, 234

235
4, 24
2435

Options:
1.v1

o B oo
3 ® 3
4 % 4

Question Number : 38 Question Id : 1889601478 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Kofi Annan who passed away recently, had received which Award?

£ w51 S 2el58 & HdSomdh. T 2 e oo ?
1. Booker Prize
2080 12
2. Nobel Prize
S B DTV
3. World Food Prize
SED HB (eF
4. None of the above

e 50

Options:
1. % 1
oD
3 %z
4 % 4

Question Number : 39 Question Id : 1889601479 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Who became the first Indian Woman to win gold medal in Wrestling in Asian Games?
ey 1846 %0l FdosS 220 IS5 FH0DS ) Jodre HHE?
1. Geeta Phogat

A SfrreS
2. Babita Kumari
22)er S0570
3. Sakshi Malik
g SrdE
4. Vinesh Phogat
ARVA Fred
Options:
1. %1
2 ® 2
=¥ 3
4 % 4

Question Number : 40 Question Id : 1889601480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which Airport has emerged as the second fastest growing airport in the world?
HH0H06TD & Fhorr s Bodks DSrmIchor o
DAFrFoho G NoN08?
1. Mangalore International Airport
S0MHrd eosTach DirmEcho

2. laipur International Airport

26 @odFraodh DarmFcho
3. Kempegowda International Airport
S0SHfh osTackh Drarioho
4. Trivandrum international Airport
1 BBo(ho BosTHAH DATHEcHo
Options:
1. %1
=
=¥ 3
4 % 4

Question Number : 41 Question Id : 1889601481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who is the Union Minister of Water Resources?
D3 25%er Bold oL DSE?
1. NitinGadkari
DAS 6,6
2. SushmaSwaraj
BV P N e

3. Arunlaitley

eoss B
4. PiyushGoel
Haoinh Rabhs
Options:
1.v1
o ® D
3 %z
4 % 4

Question Number : 42 Question Id : 1889601482 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Mational Sports Day is observed in India on which day?
D) 8oz 2SS 5306 eraoh 1B &5 150 T Aot dndiod?
1. 28™ August
28 esfiop
2. 29 August
29 esfiey
3. 21° August
21 esfeg
4, 22™ August
22 esfioy
Options:
1. %1
2 ¥52
3 %3
4 % 4

Question Number : 43 Question Id : 1889601483 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Asian games 2018 were held in which country?
a2 G5 12% ex 2018 65 2 B¥osS' esBron?
1. Indonesia
208 ondir
2. India
2840
3. China
oo
4. Japan

2T

Options:
1.91
o R
3 % 3
4. # 4

Question Number : 44 Question Id : 1889601484 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



‘Atalli Ne Kaha", A book on Vajpayee was launched recently by whom?
25 Do D Bl "eerd) T E5 Ho%o 238T (rEodotndos?
1. President Ramnath Kovind
e Toh Enod
2. Prime Minister Narendra Modi
IS5 S00(8 SBovard
3. Union Home Minister Rajnath Singh
So1d wnro Jooled oo oh oh
4, Union Finance Minister Piyush Goel
CRrRCHS D)) Do HakrD Fohd
Options:
1. %1
2.2
z %3
4 % 4

Question Number : 45 Question Id : 1889601485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which country topped the Medal's Table in the 2018 Commonwealth Games
2018 550328 54 Seser H834S° O B0 enfiErdoss GodDod?
1. Australia
& Al
2. England
aoroh
3. Canada
S
4. India

2r5ehi0
Options:
1.v1
o %D
3 %3
4 % 4

Question Number : 46 Question Id : 1889601486 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which ameng the following is the World's most valuable brand as per the Forbes |ist?

& 1208 T3S 5, erder |DTE0 HH0POS T edios Dengd 1270l D&?
1. Apple

end
2. Google
o
3. Microsoft
DETP
4. Facebook
e 208
Options:
1.v¥1
2 %2
3 %3
4 % 4

Question Number : 47 Question Id : 1889601487 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The Nipah virus outbreak was first detected in which 5tate of India?
D BED TOET0GG rESTI0S o T aos LT &
1. Kerala
Elely
2. Goa
A
3. Odisha
2.Char
4, Tamil Nadu
ST
Options:
1.¥1
2 %2
3 %3
4 # 4

Question Number : 48 Question Id : 1889601488 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which city is declared as the cleanest city under the Swachh Survekshan Survey, 20187
D85 00 28 S0 52018 208 @850 HODHDTS INdorr 2 Shdo (DESodSndod?
1. Chandigarh
el fola
2. Bhopal
drard
3. Pune
G
4. Indore

2086
Options:
1. % 1
o %D
3 %3
4. v 4

Question Number : 49 Question Id : 1889601489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

How many countries participated in 2018 FIFA World Cup Football, Russia
FIFA 12950%5 5 585 a5, 2018, 82rseS A Tzen e mryown?

1. 24

2. 28

3. 30

4. 32

Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 50 Question Id : 1889601490 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which Indian State imposed total ban on the use of Plastic?
Tt THTD) HOIFSI0P O 2rdaah oo S0 DoH?
1. Punjab
20D
2. Haryana
By Loul fve
3. Odisha
2.lhar
4. Maharashtra
S0aFoe| 2
Options:
1. %1
2 %2
3 %3
4 ¥ 4

Question Number : 51 Question Id : 1889601491 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which company setup the World’s largest mobile factory in India?

2FSSE306T HH0%06S @d 2d FBS Eoirdo 2 Eond BesE) 1087
1. Apple
LTS
2. Nokia
o Bair
3. Samsung
Fanjoh

4. M
T by,

Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 52 Question Id : 1889601492 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



In which State ‘Statue of Unity” is located?
‘0fied D0 D oo FodH?
1. Gujarat
fozord
2. Rajasthan
orziym
3. Maharashtra
ST
4, Tamil Nadu
o
Options:
1.¥1
2 ® 2
3 %3
4 # 4
Question Number : 53 Question Id : 1889601493 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

What is the name of the engineless train developed in India?

FSSEI0S 2oBS Bom ®HIH0 TohHardnend) Ben Tdh Ded?

1. Train 18
LTS 18
2. Train 20
LB 20
3. Train 22
[ Tom 22
4. Train 25
| Bam 25
Options:
1.v1
e
3 % 3
4. # 4

Question Number : 54 Question Id : 1889601494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Who was the Chief Guest at the Republic Day celebration of India in 20197
2SS BHEE T 2019 Senferd Snmeedd JS%?
1. President of Thailand
mronerof ead;Hod
2. President of Malaysia
S D0Ir e85
3. President of South Africa
S8 e s eodsdoch
4, President of South Korea

&8 e2 B80S eoddsEuch

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 55 Question Id : 1889601495 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The World Environment Day is celebrated every year, on
1383 0SS 1530 DDoB HTESSe Ao 100 o Fr addSotrd?
1. 5% of June
BTN 55 80
2. 10™ June
27 10
3. 15™ March
sy 15
4, 14™ November
14 cdad0230

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 56 Question Id : 1889601496 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who is crowned as Miss Universe 20187

2018 200 GO0 T Jadh TodonaFh?

1. Miss USA
a0y USA

2. Miss India
am Bodalr

3. Miss Thailand
o Gronerols
4. Miss Philippines
2R OIS
Options:
1. %1
2 %2
3 %3
4. v 4

Question Number : 57 Question Id : 1889601497 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Who is appointed as the new Governor of the Reserve Bank of India?
27 Ged B23b s 27508 @an 5258 6 r Dea3dh Aabhnederairn?
1. Hasmukh Adhia
aFe0E eadOir
2. Shaktikanta Das
380 o
3. Nripendra Misra
Sgyaioldd 2ol
4. Amitabh Kant
&S 5ot
Options:
1. %1
=
3 %3
4 # 4

Question Number : 58 Question Id : 1889601498 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who has been awarded the Inanapith award for the year 20187

2018 5056 T8 Finb eadd 23562 Hado TTd?

1. Anita Desai
e Baoh
2. Arundhati Roy
&0 ool
3. Aravind Adiga
edJ08 esdHr
4, Amitav Ghosh
LEBVET B 5
Options:
1. %1
2 82
3 %3
4 ¥ 4

Question Number : 59 Question Id : 1889601499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
India’s longest rail-road bridge '‘Bogibeel Bridge” is inaugurated in which state

oSS TS0 D) BS:08 FPEIS Ben-S7m8 3088 'SHDS DG D orlaoe
lErdododadod
1. Assam
&R )0
2. Arunachal Pradesh
DT HO (D08
3. West Bengal
ST 0 BOTD
4, Odisha
2.Char
Options:
1.v1
2 %2
3 %3
4 % 4

Question Number : 60 Question Id : 1889601500 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



‘NITI AAYOG' proposes Years Action Agenda
'NITI AAYOG' (€3 e033rf) Girs S eRor |D8:Trdd o 5o H8206 I

ESTaPel fyleul vl

1.3
2, 4
3 5
:
Options:
1.v1
e
3 % 3
4. # 4
Fart C: Aptitude for study of Law
Section Id : 18896037
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 60
Number of Questionsto be attempted: 60
Section Marks: 60
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 18896037
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 1889601501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which part of the Constitution of India deals with the Directive Principles of State Policy ?

2FSeh TreTioRoS D Do elE AFEresH Ho0S0D0E?

1. Parti
=B
2. Partiv
2o Iv
3. PartV
TV
4, Partll
2o Il
Options:

1. %1



o o
3 %3
4 % 4

Question Number : 62 Question Id : 1889601502 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The present Chief Justice of India (as in May 2019) is:
[Deneh | DS orsoard (3, 2019757¢38 ):
1. Jlustice Ranjan Gogoi
g Sozs AmrdDd
2. Justice S.A.Bobde
2300 S.A. 2T
3. Justice N.V.Ramana
2R N.V. 556
4. Justice Dipak Mishra
20 &35 -
Options:
1.v1
2 ® 2
3 %3
4 # 4

Question Number : 63 Question Id : 1889601503 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which one of the following is not a source of law in India?

PS50 S0d T3¢ 5S¢0 T reo 26 Td?

1. Custom
£

2. Public opinion
e diEraiho

3. Legislation
BAAD
4. Precedent
650 ¢ Dfairen
Options:
1. %1
i
3 %3
4 % 4



Question Number : 64 Question Id : 1889601504 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
‘Equality Before Law’ and ‘Equal Protection of Law’are guaranteed under which
provision of the Constitution of India?
D830 S0 T 20" OGN 580 TBE) MaTd 85 0 ardeitido Olng)
orzrgofio ) o A0HN0 (P5do’ 830w ?

1. Article 12
esf¥ 12
2. Article 13
% 13
3. Article 14
=055 14
4. Article 15
=0Ed 15
Options:
1. %1
o ® 2
3. v 3
4 % 4

Question Number : 65 Question Id : 1889601505 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The Union Council of Ministers are collectively responsible to —
S0 0ole 0S8 nociniorr D588 erdeed SIFRod ?
1. President
&85 80¢w
2. Prime Minister

LETS s00|ed

3. LokSabha
S8
4. RajyaSabha
OrEsgead
Options:
1. %1
=
=¥ 3
4 % 4

Question Number : 66 Question Id : 1889601506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



How many judges are there in the Supreme Court of India including the Chief Justice of India ?

2T BSTIN AT T ATAINE HF D0 S Jodd Triahaardien dam &?

1. 31 Judges
31 esobaarden
2. 28 Judges
28 rpohdrdoen
3. 27 Judges
27 arsoeardyen
4. 22 Judges
22 SOy en
Options:
1.v¥1
2 ® 2
z %3
4 % 4

Question Number : 67 Question Id : 1889601507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

How many Statesin India have Legislative Councils?

2FSSTI0S DD T ATED TS odenerds SO ey on?

1. 5
¥ B
3
4, 8

Options:

1. %1

o %D

=¥z

4 % 4

Question Number : 68 Question Id : 1889601508 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The age of retirement of High Court Judge is—
ED TrsoBrd DAD DB S -
1. 62 years
62 coOeaeh ey
2. 64 vyears
64 rI0a0e JOTED
3. 65vyears
65 c00a068 JTmeD
4. Mo age limit
505950 5808 B
Options:
1.v¥1
2 ® 2
z %3
4 % 4

Question Number : 69 Question Id : 1889601509 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Cultural and Educational Rights are guaranteed under —

o oeE 80D DT By, en S ¥y Bodi%o Salan -
1. Articles 29-30
es0%e5 5 29-30
2. Articles 30-31
esd%ed - 30-31
3. Articles 31-32
esf¥ 7 31-32
4. Articles 32-33
es0¥ 5 32-33
Options:
1.v¥1
o ® 2
3z %3
4 % 4

Question Number : 70 Question Id : 1889601510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Directive Principles of 5tate Policy are inspired by the Constitution of
el ArEeD o Treriofon |9 erotn@an
1. England
=orof
2. America
s
3. lreland
oTof
4, Germany
250
Options:
1. %1
2 ® 2
3. v 3
4 % 4

Question Number : 71 Question Id : 1889601511 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
lUnder Public Interest Litigation, who can move the Court ?

H2)E 20| TR DBHAS 8o, D5t 55 esFonotdscn)?
1. Any public-spirited person
D HUE ey 2red 558
2. Person whose right is infringed
H0) rOowoDGNS S5
3. Arecognised social worker
80 PSS Frira 5858
4, Newspapers
TTHedEen
Options:
1.v1
2 ® 2
3. %3
4 % 4

Question Number : 72 Question Id : 1889601512 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The present Chairman of the National Human Rights Commission is
RS0 PAaD SrSS SHope SIS TS5
1. MrJusticeM.N.Venkatachalaiah
Mr. 2395 M.N. SogerSeaals
2. Mr.JusticeR.S.5arkaria
Mr. 2305 R.S. cooey 80
3. MrJusticeG.L.Oza
Mr. 23R G.Lier
4. Mr.JusticeH.L.Dattu
Mr. 235000 H.L &ed)
Options:
1. %1
2 %z
3 % 3
4. 9 4

Question Number : 73 Question Id : 1889601513 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The fundamental duties in India are—
2rdeb Do |Srdand Jrapen -
1. Enforceable at the time of punishment
3% HSHcHoS swhen Fohaderan
2. Notenforceable
eanex TADSASE s
3. Useless
DARISTRIa)
4, Non-enforceable, but of educative value
E9.0E0 oDV, TS0 Dewss con)
Options:
1. %1
2 %2
3 %3
4 ¥ 4

Question Number : 74 Question Id : 1889601514 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What is the meaning of the expression “Amicus Curiae"?
"egao¥t $7:0" (“Amicus Curize”) @ Do By 00 Jawed?
1. Friend of the Court
50 T Doy

2. Representative of People

15)23e) (B
3. Anamiable person
el 558
4. Aneminent person
2.5 |ed0m S8
Options:
1.¥1
=
3. %3
4 % 4

Question Number : 75 Question Id : 1889601515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
From which Constitution was the concept of a Five Year Plan borrowed into the

Indian Constitution —
2786 Trersoliod s 8Xn8d) HosSE DY eF 2SS 2 Trarioko o
) JOE?
1. USA
0. )R-
2. USSR
G DR.0R.esb
3. UK
QSn.8.
4, Ireland

oTobH

Options:
1. % 1
o vz
3 %3
4 % 4

Question Number : 76 Question Id : 1889601516 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The President nominates 12 members to Rajya Sabha from people having special
knowledge or practical experience in ---
TAS8  (Bod NS dored H8:% ardo So ediso 08 &)y
12 006 dEbiedy Tras i Jond T,
1. Social service, art, science and literature
AT RE Tod, Y, DFSTIN0 SHB0 e o
2. Literature philosophy, law and social work
rarehzo ehed oA A0, L0 SBCkD ArSTRE T
3. Literature, art, science and law

Arares 0, £, DETOTLR0 0BG S0

4. Public life
leeT ADebo
Options:
1.9 1
2 ® 3
3 %3
4 # 4

Question Number : 77 Question Id : 1889601517 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Rajya Sabha has—
Trzssod € (206 DO o rotnod.
1. Aterm of & years
6 0SS yore) HE) SO0
2. A term of 5 years
5 0SS JTre) D) TE0
3. Isa permanent body, with 1/3™ members retiring every 6™ year
2E T35 How (966 S D053 350 1/3 S S0 HED DESe LORS
DEhierd
4. |s a permanent body, with 1/3™ members retiring every 2" year
5565 0, (28 2 5 0S50 1/3 S Hoehd HAD Dbdoe EOAS
DDz
Options:
1. %1
2 %2
3 %3
4 ¥ 4

Question Number : 78 Question Id : 1889601518 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A Bill becomes a law only when —
2.8 O D80 D3¢ eodetood ?
1. Itis duly passed by both the Houses
DS &IPS SBTrOHODSHE
2. ltissigned by Prime Minister
BIETS S00(ed Teb oSS0 Taraytho
3. ltissigned by Speaker and Chief Justice of India
2155 0805 DD ZRR Hosio TSy
4, Itissigned by the President
O adeed oo Trcaycn

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 79 Question Id : 1889601519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Minimum number of Judges which can give an advisory opinion to the President is ---
29555058 Sodfen 23 ) R Trsoharden —
1. One Third of the total strength of Supreme Court
D0 B Do Hibie el Sod
2. Fve
20 oo
3. One Half of total strength of Supreme Court
Siso 59 BuE Sudo S HKo
4. Seven
ek Kadhy
Options:
1. %1
2.2
z %3
4 % 4

Question Number : 80 Question Id : 1889601520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Who was the Constitutional Advisor to the Constituent Assembly 7
orzmofl 0% oramsolfl e Jodh?
1. Dr.B.R.Ambedkar
Dr. B.R. @023 6
2. Sir B.N.Rau
2B B.N. T2
3. Sir lvor Jennings
2B 050 BR300
4, Dr.BabuRajendra Prasad
Dr. 2raay o°2old (Hard
Options:
1. %1
2 ¥z
3 %3
4 # 4

Question Number : 81 Question Id : 1889601521 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Who is the source of legal authority of India?

2 SeIH0 TENST0S edH5 S0 TBEL SSthen HSH?

1. People of India

2 Beh I (De3en
2. Constitution of India
27 &ed Trersofio
3. Parliament of India
27 &eb SrOR0Ln
4, President of India
S TH0 ) ediddh
Options:
1. %1
22
3 % 3
4 % 4

Question Number : 82 Question Id : 1889601522 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The father of International Law is—

'R060 ] Do e (International Law) DE0TVCR Dedn?

1. Plato
e
2. Aristotle
wiarad
3. Grotius
Frach®
4, Denning
Gy oh
Options:
1. %1
=
=¥ 3
4 % 4

Question Number : 83 Question Id : 1889601523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Defamation infringes upon a person’s right to
S0y S0 s 2.8 358 By 2 Wit Hoffo
1. Reputation
a5 Hed
2. Pride
STUOTTEB 0
3. Privilege
&0
4. Status

oo

Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 84 Question Id : 1889601524 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The disobedience of any judgment, order, etc., of a court amounts to
T ONT 0 8% Se0WoH%o
1. Perjury
LT T

2. Contempt of Court

aesaaTS OF)86
3. Offence
Bfele)
4, Forgery
5 els)
Options:
1. %1
2. ¥z
3 %3
4 % 4

Question Number : 85 Question Id : 1889601525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What does ‘adjudication’ mean?

arpoh Afoho ot daoedr

1. Adecision given by an umpire

070 2 ) DYoo
2. Mediation
0G50 e 5o
3. Arbitration
ETo R ATTS)
4. Decision given by the court
S VE=TARINTA s o\ o)
Options:
1. %1
2 82
3 %3
4 ¥ 4

Question Number : 86 Question Id : 1889601526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Capital offence results in—
0 oSy DR800 38 S00H

1. Sentence of death

Sndea FE
2. Sentence of life-imprisonment
208 Po %
3. Imprisonment over 10 years
10 HoSe e $0T) %0S P
4. Amputation
MOCHOTIEIO
Options:
1.1
2 %2
3 %3
4 # 4

Question Number : 87 Question Id : 1889601527 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

All disputes relating to election of President and Vice-President are enquired into
and decided by the ---

@0 i 30 B8] 203 50 % Ro20S00S @8] DSrTrernd

ABowoT eHTE0 D588 Gotnod?

1. Supreme Court

ek 55 & DT IOnaT 0
2. Election Commission
aa)) e o
3. Parliament
Trdaot
4. Delhi High Court
&9 &Y
Options:
1.¥1
2 ® 2
3 %3
4. # 4

Question Number : 88 Question Id : 1889601528 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



‘Bhopal Gas Leakage’ case falls under the classification of law of
SrSmH O T TuchTRo S D Dario Boddy Snod?
1. Crimes
Soren
2. Negligence
QBEs0
3. Torts
&0 S sen
4. Contracts
2o JOTTEN
Options:
1. %1
2 %2
2.3
4 % 4

Question Number : 89 Question Id : 1889601529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

“lgnorance of law excuses no man, not that all men know the law, but because it is
an excuse every man will plead.” Who said these words?

0500 BOADAD 631 T w 90 o, oS8 Tridho BHaAreoD
B0, 0 15368 DA E S5 TESD DAHOHETDE D oITHo
£6)0tHE DD . S SPEOSE Dad&n?

1. FRousseau

ohyvs
2. John Wilson
2R a3 )R
3. John Selden
TR B

4. B.H.Brewster

BH. 220" 90
Options:
1. %1
o oo
3. v 3
4 % 4

Question Number : 90 Question Id : 1889601530 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



A final order of the Court pronounced on the hearing of the suit is called-
O Tl 9d  SHad TUrohero0 D) Dad SS9
DeDOETED? -
1. Result
Hedeédo
2. Degree
&1f
3. Decree
&8
4., Deed

&&

Options:
1. %1
2 %z
3.¢¥ 3
4 % 4
Question Number : 91 Question Id : 1889601531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0
'Husbandry’ is a term related to
723048 (Husbandry) @& S0 BOHE HoBoHODIE?

1. Marriage

DTLFO

2. Farming

FTalle
3. Protection
S5
4.  Industry
8| Fow
Options:
1. %1
2 ¥z
3 %3
4 % 4

Question Number : 92 Question Id : 1889601532 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



The killing of new born child by its parents is called -—-
SSemed THy £5) SDSotoen S D Sondo 2tnSod Tdo 1Bod Suos,

1. Infanticide

B oPehg
2. Abortion
AS S0
3. Foeticide
[E5reaaTredy
4. Malfeasance
TS0
Options:
1.v1
=
= %3
4 % 4

Question Number : 93 Question Id : 1889601533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

‘A’ sets up a liquor shop and starts selling liguor. He is doing something wrongful or

illegal unless he has—
') e ardhy 0o oo Tl e G0 T Sodso edo IndewatT o,

eeb ) Tyl 1 853, & 1208 T3 08 2,263 Bioa o wido Bdo.
1. Court Order

R laly)
2. Dfficial Consent
wHTHE eocdnnes
3. Authority
CTalodelel

4, Licence

[SEEN

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 94 Question Id : 1889601534 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What is a ‘moot’?
'0ES' (Moot) 20T 20es?
1. A basic point of law
580 Gl T eodo
2. A basic fact of case
2.8 [ardHand Seo
3. Mock court, for practice by students
Dslher ezredo 800 &6 55
4. Another name for Magistrate Court

22 RO BB HE

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 95 Question Id : 1889601535 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A formal instrument by which one person empowers another to represent him —

2,5 528 505 8530 D TEHE A5 BASTR) B 1T JERE AT Dy

Dooerdn?
1. will
fe) e 0
2. Power of attorney
eofsd Jiso
3. Power
eds80
4, Instrument of representation
aredddds @S 550
Options:
1. %1
i 4
3 %3
4. # 4

Question Number : 96 Question Id : 1889601536 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



A person who takes up proceedings against the accused on behalf of the State—

Tl S$E DS DoSdve DS TH% 38,

1. Judge
s aDerd
2.  Lawyer
oI d
3. Attorney
2656
4, Prosecutor
08B
Options:
1. %1
2 %2
3 %3
4 ¥ 4

Question Number : 97 Question Id : 1889601537 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

A invites B for coffee in a restaurant and B accepts the invitation. On the appointed date,
B goes there but A is not found. In this case
A % 58 B ofF @8dD of 3ydod H T & 55010 esFdard. B o
wol¥Bard. 50 eind) BHE, D08 ABETBos & o Bidn. & T
1. B has no remedy against A
B %0 énS0¢) HBF S0 B
2. B has to wait for another invitation from A
B 00D 8% &35 50 00 D od
3. B hastheright to sue A for not honouring his words
A %0 e S OhE@RE B o i) G0d
4. Ahas to invite B again, to perform the promise.
A 5095 B & a5 Do), TTS0 Do BEpernd
Options:
1.1
2 %2
3 %3
4 # 4

Question Number : 98 Question Id : 1889601538 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The act of unlawfully entering into another’s property is called
8% 8 ey § HoBoHod) BEDBHDOT |HHTOT OB Denar
1. Breach of property
8300 GFEIOI0eD

2. Trespass

96 madEoe
3. Triplication
(SRS
4, Trover
556
Options:
1. %1
=
3 %3
4 # 4

Question Number : 99 Question Id : 1889601539 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The legal abbreviation of LL.B. is—
LLB. TBE Hof R8s S 8 S0
1. Bachelor of legal Law
27 eb &5 XS er
2. Legalite Lawyers Baccili
DEBE ercHby erHd
3. Legum Baccalaureus

Do rsedn

4. LegalitelexiBaccili
ONBES By 272
Options:
1. %1
2 ® 2
2. ¢¥3
4. # 4

Question Number : 100 Question Id : 1889601540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Criminal lawis __ law
BSS &0 HBS ¥ HoB0H0DGH.
1. Public law
HEE er
2. Private law
e e
3. Customary law
Eneand er
4, Special law
20jmo eF
Options:
1.¥1
2 ® 2
z %3
4 % 4

Question Number : 101 Question Id : 1889601541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
What is the primary responsibility of the Security Council of UN?

UN 358 J008E) By 1060 erdsed Daned?
1. Maintain world heritage
13 0th aTEOEr D) sard ESdo
2. Maintain world food
PHod eFod;) sardo S50
3. Maintain world award
20000 @5 RS aroticho
4, Maintain peace and security in the world

H550%06S FoB HBGIN Hdes s SSarRoddo

Options:
1. % 1
o %D
3 %3
4 v 4

Question Number : 102 Question Id : 1889601542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0



India’s Dr.Homi Jahangir Bhabha had been the president of the
2 Oeh B8 NooBoDS 55 T 23:7oNb erer B8 ediSdimr
ereoy Co?
1. United Nation Development Programme
SR L6 Tas Bioodh |9 T
2. International Labour Organisation
oS T oD 6% How
3. The United Nations Educational, Scientific and Cultural Organisation
& GINT T8 BAS) AFEASS, oedDE wob f0)80 eadTERAS
4. The International Atomic Energy Agency

00T eI eoe §8 How

Options:
1. %1
2 %
3 % 3
4 ¥ 4

Question Number : 103 Question 1d : 1889601543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
When did World Health Organisation (WHO) come into force?:
5015 @8 S0 (WHO) D532 95508 8 38 3087
1. 6™ April, 1948
QDS 6, 1948
2. 7™ April, 1948
QDO 7, 1948
3. 10™ April, 1948
DS 10, 1948
4. 26" April, 1948
26 D, 1948
Options:
1. %1
2 2
3 % 3
4 % 4

Question Number : 104 Question Id : 1889601544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



‘Professional Ethics’ is
PSS 65 70T
1. Set of rules relating to personal character of professionals
Sayeaney S:5fed %0 ro205H00 Habaren
2. Traditional rules observed since long time
T SO0 00 aTEANS]  ArolEraD Jabaren
3. Set of rules passed by professional bodies
SH9RDHET0S DoPen BRTFA0DS Aaharen
4. Set of standards adopted by professionals
DYEDOT BeDB0DDRS |HSTEre DoLATeD
Options:
1.v1
2 %2
3 %3
4 % 4

Question Number : 105 Question Id ;: 1889601545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A person arrested has to be produced before a Magistrate within
2% 558 eaBep T 2D, Hodres 6556 2,5 Thad e S0 et HEE)?
1. 48 hours
48 fiodren
2. 24 hours
24 fiotren

3. One week

28 ado
4. 72 hours
72 hoéxen
Options:
1. %1
e .
3 %3
4 # 4

Question Number : 106 Question Id : 1889601546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Writ is an order issued by High Court or Supreme Court for of our
Fundamental Rights.
=& T oo £ 8 TS edb | TFdnE e £%0
1. Enforcement
255080

2. Encroachment

LETEANNT
3. Endangering
coldad) T
4,  Dissolving
B&0%y
Options:
1.v1
2 %z
3 %3
4 % 4

Question Number : 107 Question Id : 1889601547 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Who will discharge the duties of the President in the event of President and Vice-

president being not available?

D T06 HBG5D BH 2Tod B HodS 08 T o erdsderdd 5%

DS s8rd?
1. The Prime Minister
SETS SHo|es
2. The Chief Justice of India
278565 | 6T ArsoirSines
3. The Speaker of LokSabha
65 335 %6
4. The Attorney General of India
ers; 23586 el mobair
Options:
1. %1
i
3 %3
4 % 4

Question Number : 108 Question Id ;: 1889601548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Article 19 of the Constitution of India provides
ar&es oremzofio wdy @S 19 emodopod
1. Six freedoms
e3dhd T STden
2. Seven freedoms
ek W sLdew
3. Five freedoms
228%™ gL e
4, Two freedoms
Bodo R en
Options:
1.v1
o %5
3 %3
4 % 4

Question Number : 109 Question Id : 1889601549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
‘Secular’ means

‘eI 85Treas0" 0T
1. Full authority of Government to legislate on its people
€85 | D238 30 Froed0 T oty |HD2he to Angy ot edsdo
2. Noking or Queen, President is Head of State
T2 BT U Tedaichd, T ateded eadied

3. Treating all religions equally

ESTa AT PSR
4. People's government
|a223e) 2206 fO
Options:
1. %1
2 %2
3.¥3
4. % 4

Question Number : 110 Question Id : 1889601550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The strength of the Union Council of Ministers including the Prime Minister cannot exceed
G500 83 T S0 Hodhd) Joshe 2630 Do oIS
1. 15% of total membership of Rajyasabha
Trasg 25 By BuSo D5z rosS 15%
2. 15% of total membership of LokSabha
5% 32565 Buedo HBsed to & 15%
3. 15% of total membership of Parliament
Zndo FETodS S 15%
4, 25% of total membership of LokSabha
S5 E32565 Tnddo Hsed 0 & 25%
Options:
1. %1
i
3 %3
4 % 4

Question Number : 111 Question Id : 1889601551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Hf a married woman dies within seven years of marriage under unnatural
circumstances, her death is presumed to be
2.5 D6 (R D D05 oo S5 1Hre SMeS’ HEBoDIVS, e
20GEFR) S50 DAOIT @ADATROLITD ).
1. Murder
aFess
2. Culpable Homicide not amounting to murder
bz B0 MDD BP0 HyeT Srood
3. Dowry Death
0% ndeo
4. Cruelty and Harassment by Husband and Relatives

258 S8 din 208090 (5366 t0 HBaN DO

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 112 Question Id ;: 1889601552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



‘Uniform Civil Code’ means
B0y S D@ @O
1. Acode related to individual’'s public life
558 Ty HAE DD HonoBodDS §6
2. A codified law applicable to all persons of India irrespective of their religion
Qo Howodho Bio® 2rdaiso BBnd) @) Sifveds 380 2.4
BG4 €800 580
3. A code meant for Hindus only
rocnge §Ho 03005 2.4 §6 dredth
4, Alocal law
Wl wyo
Options:
1. %1
i
3 %3
4 % 4

Question Number : 113 Question 1d : 1889601553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The first session of the Parliamentiscalled  session.
rQanotn G3nE; B0GE VTS0 D Toam 850 Henarid.
1. Winter
Ferse)
2. Primary
L2208
3. Monsoon
SrEryS
4. Budget
238
Options:
1. %1
2 ® 2
z %3
4 ¥ 4

Question Number : 114 Question Id : 1889601554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The concept of “Rule of Law” is a special feature of constitutional system of —

"G &) e e TraT ol 1% &) Trersoh ard

1. Britain
EALAT)
2. UsA
[V PRI
3. France
127D
4. Switzerland
R eTob
Options:
1.v¥1
2 %z
3. %3
4 % 4

Question Number : 115 Question Id : 1889601555 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0
The Constitution is —
oresiofio R
1. The supreme law of the land
Tdo 5D eepd) e &0
2. The ordinary law of the land
Bdo &' Frorde o
3. A set of official law
e 568 5é)0 sy 2.8 darFo
4. The subordinate law of the land
Tdo g, &3 480
Options:
1.¥1
o %5
3 %3
4 % 4

Question Number : 116 Question Id : 1889601556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Recognition of 5tates was done in the year 1956 on basis

1956 €3 TrlaT@ 080 & |T8S5E Sud :8Rod
1. Linguistic
27ar wdorr
2. Population
e 00T
3. Caste
S0e0 S0
4.  Religion
WO s OOTT
Options:
1.v1
2 ® 2
3. ¥ 3
4 % 4

Question Number : 117 Question Id : 1889601557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
What does COPRA stands for—
COPRA &0 abes-
1. Consumer Protection Act, 1986
JeGrtordoes 85t <580, 1986 (Consumer Protection Act, 1986)
2. Consumer Courts Act, 1985
£ 475000 8¢ ©9€)0, 1985 (Consumer Courts Act, 1985)
3. Consumer (Protection of Rights) Act, 1990
£ 5000 (arBope> &5 02) 550, 1990 (Consumer (Protection of Rights) Act, 1990)
4, Consumer Co-operation Act, 1991
HTIFHoT e fars S0 w0, (1991 Consumer Co-operation Act, 1991)
Options:
1.v¥1
2 ® 2
3 % 3
4 % 4

Question Number : 118 Question Id ;: 1889601558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



According to Indian Majority Act, a major is a person who has attained the age of —
2530 Doarsed 1980 D580, D) H0SS107ED DodS 5580 Thzb'
eooerdn?
1. 18 years
18 F00eR yoren
2. 21 years
21 DOSed yTren
3. 15 years
15 fI0e0ed yorewn
4, 16 years
16 co0aoed jTr e
Options:
1.v1
2 %2
= %3
4 % 4

Question Number : 119 Question Id : 1889601559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
A person commits bigamy if he
2.8 528 23270273565 50 & |Hahed) 0Tty @0T)
1. Marries again when his first wife is dead
@& Tnded ard; SAFonS it HPy 2P Tnoerds
2. Marries again when his first divorced wife is alive
8 Tnded DerSoen FFoSS 2rSs HASOM ) )t HP Dairo Fiutooer
3. Marries again when he already has a legal wife
e 1O )% SOOI TS ST P Y Todioerd
4. Has relation with a woman, besides his wife

B3 2SS ren R | Ve Ho20d0 DR eord

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 120 Question Id : 1889601560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0



Who is the Supreme Commander of the Armed Forces in India?

2PSSTE0S Araind &% D0 EXFodb J5E?
1. The Prime Minister

LTS 0| ed
2. The Commander-in-Chief
¥35rodbb ad op
3. The President of India
G d0 DB0E) T areed
4. Minister of Defence
&5 ole
Options:
1. %1
2 %2
2. ¢¥3

4 % 4



